| >

| asadi1017za07

| > restart,

> T(x,y)=u(x)v(y);

_ T(x,y) =u(x) v(y)
> diff (T(x,y),x,x) +diff (T(x,y),,y);

L Ty +-E Ty
& oy

> u(x) = Z c[i]-xi;

i=0

~

u(x) :=x2c2+xc1 +¢

2
> v(y) = Zod[i]-y";

v(y) :=y2a’2 +yd, +d,

T(x,y)= ()c2c2+xc1 +co) (yzdz+yd1 +d0>

> f(x,y) = diff((xzcz-l-xcl-i-co) <y2d2+yd1+d0),x,x) +diff(<xzcz+xcl+co> (

+yd, +d0),y,y> =0;

fxy)=2¢, (y2d2+yd1+d0) +2 (x2c2+xcl+co) d,=0

> u(x) = unapply(u(x), x);
u(x) = x—x ¢, txc t¢

s/ :=c0=0

> s2:=u(x)(0.01)=0;

s2:=0.0001 ¢y +0.01 ¢ +CO=O

> v(y) = unapply(v(y),y); ,
v(y) =y—y d,+yd +d,

s3:=d,=0
> 54 :=v(y)(0.01) =100;

54:=0.0001 d, +0.01 d, + dy =100

> 85 :=subs(x=0,y=0,f(x,v));
s5:=2€0d2+202d020

> §:= solve( [s1,52, 53,54, 55], {CO, Cps Cp Ay s dz});

__ _ _ _ _ _ _ 6
S={¢y=0.,,¢;=¢}, ¢, =-100. ¢, dy=0.,d, =d,, d, =1.000000 10° —100. d, }
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> u(x) == 2

IV "V IIV "

'(—100'6‘1) +x-c:
-(1.000000 10° — 100.d,) ) +dy:

> T(x,) == (9.9900000 10°)* + ) (-100x* +x);
T(x,y) = (9.990000000 10° * +y) (-100x* +x)

> plot3d(T(x,y), x=-1.1,y=-1.1);

X
> v(y) = ('

d, =1
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